

09/15/2025 08:00 AM | Event Day 1 - Install 09/16/2025 08:00 AM | Event Day 2 - Install 09/17/2025 08:00 AM | Event Day 3 - Install 09/18/2025 08:00 AM | Event Day 4 - Install

PO: **Shipping Address:** Six Sense Ibiza Camà de Sa Torre, 71, Ibiza, Spain

07810

POC: Edgar

IHG® Hotels & Resorts 3 Ravinia Drive, Suite 100, Atlanta, GA, 30346 (remote based in Los Angeles, CA)

**Invoice Date:** 

Due Date: Upon Receipt

Salesperson: Edgardo Zamora

Description		Qtty	Price		Total
Meeting Room					
	Table Rentals - 72"	5	\$128.60	Т	\$642.98
	Custom Made Embossed Journals	40	\$19.50	Т	\$780.00
	Desk Blotters	35	\$13.00	Т	\$455.00
	Backdrop Installtion - Hospitally Room	1	\$5,850.00	Т	\$5,850.00
	Custom Built Wooden Structure , with Natural fiber or linen , Designed to Serve as main stage background				
	Logo Frames Mirrors -	6	\$195.00	Т	\$1,170.00
	Multiple Handcrafted frames in driftwood, bamboo, rattan, and other natural materials, Frames will be hung on the backdrop as part of the focal display.				
	Frames without Logo	6	\$156.00	T	\$936.00
	Logo Decals for Frames	7	\$39.00	Т	\$273.00
	Khaki Round Linen for Tables -72"	10	\$390.00	Т	\$3,900.00
	120" Solid Khaki round tables arranged in a cardamon formation in front of the stage to create a visual impact and enhance guest interaction.				
	Floral Arrangements for Conference tables	6	\$305.50	Т	\$1,833.00
	Sustainable Dry Flowers succulents drift				
	Bathroom Florals	1	\$45.50	Т	\$45.50
	Sustainable Dry Flowers succulents drift				
	Additonal Console Florals	1	\$115.70	Т	\$115.70
	Coordinated Sustainable Dry Flowers succulents drift extending the event's visual identity through the venue				
	Chair Rentals	35	\$234.00	Т	\$8,190.00
	Director Rolling Chairs				
	Place Cards - TBD Design	25	\$6.50	Т	\$162.50
	to say " Reserved for IHG Table Host "				
			Total Meeting Ro	om	\$24,353.68
Sent 16th - Welr	come Reception - The Orchard				

Description		Qtty	Price		Total
	Floral Arrangements for Dining Tables Wild flowers and wild plants mixed with votive candles	5	\$390.00	T	\$1,950.00
	Florals for Existing Bar Wild flowers and wild plants mixed with votive candles	2	\$260.00	Т	\$520.00
	Table Plant Styling for Sit down / Stand up Table Wild flowers and wild plants mixed with votive candles , + 2 for Coffee table	10	\$45.50	Т	\$455.00
	Mix and Match Pillows for Lounge Cream Color Pillows	12	\$45.50	Т	\$546.00
	Custom Made Pillows with L&L Logo Printed	6	\$104.00	Т	\$624.00
	Total Sept. 16th - W	elcome Rece	ption - The Orch	nard	\$4,095.00
Sept 17th - Lun	ch- Upper Deck South Mansion				
	Hotel Provided (2) long tables for dining	1	\$0.00	Т	\$0.00
	Hotel Provided Umbrellas	1	\$0.00	Т	\$0.00
	Wooden Bar Rental	1	\$650.00	Т	\$650.00
	Floral Arrangement for Bar Mutlicolor florals	1	\$325.00	Т	\$325.00
	Crossback Dining Chair Provide by the hotel	40	\$0.00	Т	\$0.00
	Napkin Flower Detail	38	\$6.50	Т	\$247.00
	Sustainable Floral Arrangements Multicolor Color flowers for round lunch tables	5	\$325.00	T	\$1,625.00
	Rugs to go under Dining Table Jute Rugs , 2 each table	10	\$130.00	Т	\$1,300.00
	Total Sept 17th - Lu	nch- Upper Deck South Mansion			\$4,147.00
9.17- Dinner- P	artal Rest. Pharmacy				
	Bar decor  A full Candle Concept with Olive branches + Real olive using different heights and styles to create an intimate and elegant atmosphere	1	\$260.00	T	\$260.00
	Back Cushion for Rattan Chair Seat Cushion	60	\$52.00	T	\$3,120.00
	Table Decor - Variety of Candles  A full Candle Concept with branches + using different heights and styles to create an intimate and elegant atmosphere	100	\$39.00	Т	\$3,900.00
	Olive Tree Table Setup - Existing  Rearrange existing furniture ( sit downs + Dining chairs - Hotel  Rearrange furniture	8	\$0.00	T	\$0.00
	Custom Made Dinner Napkins With Name of each guest , with Decor in Olive Leaf	38	\$24.70	T	\$938.60
	Total 9.1	7- Dinner- Pa	rtal Rest. Pharm	acv	\$8,218.60

Description		Qtty	Price		Total
Sept 18th - Lu	nch - La Granja Can tanca				
	Bars	1	\$650.00	Т	\$650.00
	Bar rental				
	Floral Arrangement for Bar	1	\$301.80	Т	\$301.80
	Mix of fruits and vegetables and herb				
	Mediterranean Floral for Table Styling	5	\$260.00	Т	\$1,300.0
	Intro of New dining line styled to capture Mediterranean countryside.				
	Tables adorned baskets of citrus and arrangements of fruits and vegetables				
	Round Dining Tables	5	\$0.00	T	\$0.0
	Provided by the hotel		·		·
	Dining Chairs	40	\$0.00	Т	\$0.0
	Provided by the hotel	10	ψ0.00	•	φο.σ
	<u> </u>		ĊEO EO		\$117.0
	Restroom Floral Arrangements	2	\$58.50	T	\$117.0
	Floral Arrangements for Buffet Table	1	\$442.00	Т	\$442.0
	Mediterranean style, baskets of citrus and arrangements of				
	rosemary, lemongrass, and other herbs with Mix of fruits and vegetables				
	Total Sept 1	8th - Lunch - I	La Granja Can ta	nca	\$2,810.8
Sept 18th- Din	ner @ Caves				
	Custom Made Reserved for IHG Host Signage	10	\$3.90	Т	\$39.0
	Floral Arrangements for Cocktail Tables	4	\$32.50	Т	\$130.0
	Floral Arrangements for Hostess Table	1	\$260.00	Т	\$260.0
	Table Floral + Decor	7	\$390.00	Т	\$2,730.0
	, Coral Fans , Sea shells , Plus Candles , For Dining Tables				
	Rectangle Tables	5	\$0.00	Т	\$0.0
	Provided by hotel		·		·
	Dining Chairs	40	\$0.00	Т	\$0.0
	Provided by the hotel		*****		75.5
		Total Sept 18	al Sept 18th- Dinner @ Caves		\$3,159.0
Burning Ritual	on Beach				
	Led Candles illumination	500	\$6.50	Т	\$3,250.0
	Led Candles of different sizes		<b>V</b> 3.33	·	ψο,Ξοοίο
		Total Burning Ritual on Beach		\$3,250.0	
Services					
	Pre-Production	1	\$2,000.00		\$2,000.0
	Design Fee	1	\$2,500.00		\$2,500.00
	Design Decks, Vendor Management & Proposals				
	Design Decks, vendor Management & Froposais				

Description	Qtty	Price	Total		
Airfaire & Hotels - Manager & Crew - To be provided by Client	1	\$0.00	\$0.00		
Manager on Site Sept 15th-20th Vendor Management, Hotel Liason, Client Management, Design Final Touches	6	\$500.00	\$3,000.00		
Per Diems to be Provided by Client	6	\$0.00	\$0.00		
Ground Transportation - To be provided by Client	1	\$0.00	\$0.00		
Installer per Day - (1 guy)	6	\$350.00	\$2,100.00		
Floral Team Install / Strike Fee	1	\$3,100.00	\$3,100.00		
Rental Team Install / Strike Fee	1	\$4,600.00	\$4,600.00		
Chair Rental Labor   Strike Fee	1	\$4,000.00	\$4,000.00		
Hotel to rearrange furniture for all events - TBD	1	\$0.00	\$0.00		
Please make checks payable to Revelry, Inc.		Total Products:	\$50,034.08		
	Total L	Labor/Services/Misc: \$50,034.08			
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Vear & Tear (0.00%):	\$0.00		
		Packing (0.00%):	\$0.00		
Notes Service and Misc Prices are subject to Change until final confirmation		Taxes:	\$4,878.32		
		Discounts:	(\$0.00)		
		Total:	\$77,712.40		
		Payments:	(\$0.00)		
		Balance:	\$77,712.40		